AUSSIE SPARES DIAGRAM & PARTS LIST

AUSSIE GMP PUMPS: B3XR-A/X FOR CYLINDRICAL 1” WITH KEY MOTORS
CAT AA2C

F897 6103 9065 9066 9067 F134

BT T R
|-

Za

6030
| F939
\ F319
7 F941
F940
F931 E;,/’//_
R i 8L
i bt 1 _—7857
FLL6 _ s
F942 i
9533 \ / T

F135 6341 6355 F161 F158

Retall . Retalil
Part Number  Qty Description price Part Number  Qty Description price

6030 1 Flex. Gasket B 2587 $12 F160 8 Stainless Steel Screw M5x12 $2
6060 1 OR 4625 (158.3x3,.53) $5 F319 4 OEB Screw 3/8 -16 UNC " $5
6103 1 Check Valve B 2583/1 $78 F446 1 Screw OEB 3/8 —24 UNF " $5
6341 1 Mech. Seal 32-54-15 $54 F555 1 TapAISI 316 1"°G $116
6355 1 Counterface 33-57-10 $38 F739 1 Steel Nut M6x1 $7
7857 8 OR 2021 (5.28x1.78) $2 F894 1 Stainless Steel Disc $168
8424 4 Screw O.E.B. M8x40 $4 F895 1 Pump Casing B3XR-A/X $7,387
9065 1 Counterweight $47 F897 1 Valve B3XR-A Stainless Steel 3" $1,715
9066 2 Counterweight $65 F931 1 Impeller B3XR-A/X $1,891
9222 1 Stainless Steel Screw M6x20 $1 F939 1 Bracket B3xR-A/X $406
9533 7 Screw OEB M10x30 $10 F940 1 Sleeve D.25.4/32/H54 $190
F135 1 Conical Tap %" Gas $22 Fo41 1 Flange B3XR-A/X $166
F158 4 Stainless Steel Screw M12x25 $11 Fo42 1 Stain.Steel Washer D.10x35x4 $58

Australian Pump Industries Pty Ltd | 7 Gladstone Road, Castle Hill NSW 2154 | P: 02 8865 3500 | F: 02 9894 4240 | www.aussiepumps.com.au

All prices include GST GMP/JUN 10/1




